Do Now: From the Exercises section of the Sum and
Difference of Angles Formulas packet (yesterday’s packet)
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48. If x and y are posmvc acute angles such that

cosx = 12 and cos y= ~ ﬁnd the value of cos (x + y).
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Name: Date:

PC: Double Angle Formulas Ms. Loughran
Double Angles
Double-Angle Formulas
sin 2x =2 sinx cos x cos 2x = cos®x -sin?x tan2x=_2.£.“%
or2cos?x-1 1-tan®x
orl-2sin?x

One ?pplication of these formulas is in A second application of these formulas is
evaluating trigonometric functions. in solving trigonometric equations.
Examples:
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1. If Zx is in Quadrant Il and cosx = g Find the value of sin 2x.
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2. Prove the identity: sin2x=
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1. IfAis a positive acute angle and cos A = %, what is

the value of cos 247
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Double Angles

sin 2x =2 sinx cos x

Double-Angle Formulas
cos 2x = cos®x-sin’x
or2cos?x-1

orl-2sin’x

~_2tanx
1-tan’x

2. Ifsinx= % and angle x is obtuse, then the value of
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sin 2x is
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numerical value of sin 2x?
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3. Ifsinx = g and x is an acute angle, what is the
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4. IfsinA = %, find the value of cos 2A.
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81. (sin x — cos x)? is equivalent to
(1)1 @) 1-sin 2x
(2) —cos 2x (4) 1--cos 2x

—LSRany

Double Angles

sin2x =2sinx cosx

Double-Angle Formulas
cos 2x = cos®x - sin®x
or2cos’x-1
orl-2sin’x
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Homework 04-08

Sumand Diffene. of Awales Farmdis Hig
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